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The position. 21, and speed. xo. of a particle moving on the line ohey
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where « is an applied control foree. Initially the particle is at rest and 21(0) = X. where
X = 00 It s desired to bring the particle to rest at the origin while minimizing the cost
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Here k15 a constant. T 12 the time that the particle reaches the origin and T 13 uneonstrained.
Use the maximum principle to show that under optimal control the particle reaches the

origin at time T — (6X k)12 and that a varies linearly with time from —k to k.
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